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PART— %
Instructions : (1) Answer all quesé‘b mﬁ

3x10=30

1. Define active aﬁdap'h‘sswe. ets.

e
2. Define mutual :-::_,:;._: nd write the formula for coupling
coefficient. § < 3 T N '
- / l‘i‘ i
3. Wn‘it‘éﬁ“ﬁtar-delta transfo

T'

lation formula.

4,/ Wnt&._thm imporfarige of impedance matching for maximum power
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6. Draw thé“duality of the given network.
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7. Define steady state and transient state

8. State the condition for symmetry and reciprocity for Y-parameters
9. Define filter and classify filters.

10. Write the applications of equalizer circuits. '

PART—D 10+ 5=50

we)

ve and the cnterion

Instructions : (1) Answer any five questyg
(2) Each question carne:

[3) Answers should
for valuation is

the answer N

11. (a) Find the curs rqt Mg thro i ohms resistor for the

circunt hh'{-n"'Il- ‘1tl I h Q nil lt] L“!] 'Illltl.lr"' law
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fb) "Explain th-Q convention used 1 coupled circuits.

iﬂﬂ. “Obtwn t evenin's equivalent cucuit across the termunals

AB for ircuit shown below.
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13. Find the mﬂ:ﬂmmn
of 10 ohms for the mrcmt g;m-,n below.
202 400

100.£0° v&% Trﬁ{;u

14. Find the power absorbed by the 5 ohms resistor for
using mesh analysis, :

S0V —

15. "Determine the values uf Vi, J_ e circuit using node voltage
analysis, '

= -2 T so90° v

16. A series RCag i

constant xoit

capncit ks no initial charge. Find the equation of i current,
fii) vl gk across the resistor and (i} voltage across the
capacite '
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17. fa) Explain the hybrid parameters of a two-port network with
equivalent circuit. 7

(b) Mention the condition for symmetry, reciprocity network for

ABCD parameters. 3
18. (a) Derive the characteristics impendance of symmetrical
| T network. 5, . 5
bcaal o . e : '
(b). Design a low-pass filter T-section having a cutoff: ency
of 2kHz to operate with a terminated load résiftance of
500 ohms, O 5
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